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(Please read @\a\chgofhthb’following instructions carefully before attempting questions)

Thqrb‘:a}%\ El ;ql.ﬂlcstions divided in two Sections and printed both in HINDI and
in‘%NGMSH.
Candidate has to attempt FIVE questions in all.

Question Nos. 1 and § are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.
Answers must be written in the medium authorized in the Admission Certificate which must

be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space

provided. No marks will be given for answers written in a medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.
Graphs/Illustrations, wherever required, may be drawn/given in the
answering the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a

question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.

space provided for
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WUE—A | SECTION—A

. Pefafes v@% @ ® 3w anm 150 w=d 1 A -
Answer the following questions in about 150 words each : 10x5=50

(a) & TETUEReE il amn i sEwa g e ain g e srgafos wh @s 9 e Rl
woene fF spya fre e win @ 6 gem § srguies v @ W@ dm T@r aen @ R

Differentiate between perceived demand curve and proportional demand curve
in a monopolistic competitive market. Explain why the proportional demand
curve is steeper than the perceived demand curve.

(b) whifea fumme A w20 A SeEes GEEn fif

Discuss critically the phenomenon of classical dichotomy.

) T fifte 5 & = % 3fewm 3 Tom " A -3 F 7799 FA g e fGh =
o A qeargEn ® R afus mafmam § sl )

Show that ad valorem tax is preferable to specific sales tax from a firm's 5ointf\
of view in generating the same level of tax revenue.

(d) @amﬁﬁmﬁamammﬂmmm@ﬂ@“

Examine the role of treasury bills in curﬂrolimg mo\{m}' supp'ly

(e) manmmmm\mﬁ\@mﬁﬁmﬁmmu

Write down the majot asaumphoﬂs behind Neoclassical Loanable Funds
Theoryn ot'\ Interest. .

\C
{a}“\mﬁﬁsm-amm-ﬁmﬁﬂaaﬁﬁawia&amﬁwﬁahqmﬁﬁqtﬁm
( @ % 4 e sEws w9} WA @ e T @

Derive Pareto optimality conditions in production in a two commodities-two
factors-two producers framework. Show that Pareto optimality does not
necessarily guarantee for equity. 10+10=20

(b) i MR ArEE F AR A R F I § wgw Faer-wad TRt ® i we

mﬁﬁﬁqﬁmmmmmmﬂm%mmaﬁﬁaﬁmmm
1

Write down the behavioural assumptions used in Marshallian and Walrasian
approaches of market stability. Show that these two approaches become
conflicting when both the demand and supply curves are positively sloped.

8+7=15
(c) mm%mwﬁ#mammwmml

Describe the short-run and long-run equilibrium of a firm uny¢’ :r monopolistic

competition, 15
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3. (o) T F RMEW | A-UIR FYeA H FAIUREN F q9gRel F-9 F e A f I
w =a: T T I o a7 R Hif

Explain the concept of underemployment equilibrium with graphical
illustration. Why full employment cannot be reached automatically in Keynes’
approach? Analyse. 10+10=20

(b) R @ g gETed F ur W wgia TEA AW (V) 79 =R X (r) B W O wgia s
anfids nfza & 3w@m T Hifse .

el 996 $eH : s =-40+0-5(Y - T)+0-25r
A : T=20+40-2Y
am wem : 1=20-0-25r
TZ1 " %4 : L =0-4Y -0-5r
¥Ea g7 9 0 M =40 (F3 7R)
@ A R 9 A €20 T3 IgrEn wem, 7@ Fged qeal § fFe R aieds e

Calculate the equilibrium national income (Y) and interest rate (r) by usmg an
appropriate macroeconomic model from the information given below L
Aggregate saving function : s=-40+0-5(Y - T}+0 -25r \ “
Tax function : T=20+0-2Y @
Investment function : I =20-0-25r,
Money demand function : L =0- Y—-O \
Aggregate money supply M‘:“\ 0 (mpces in crore)

How will the equilibrium values~¢hangc when money supply is increased by

20 ‘Tie? @\ﬁ 10+5=15

@ nﬁﬂhﬂ foera =1 reieETeTE fasdan At
( Cnt:ca]ly analyse classical theory of interest. 15

4. (a) =E I T W@ F F T 0 POE W@ R @ Pk w1 DR 5 dma
F1 it fare s, S e e F Bk @ wf ogan wwd §
Describe the mechanism of credit creation by commercial banks and its

?mplicat.ions on multiplier effect. Analyse some of the limitations that can
Jeopardise the implications on multiplier effect. 10+10=20

(b) wRARE 9 Frell wgadl § e At adutE T S gl § 5 TR @ srewem I
Bf R, =rEn it

Distir miish between public goods and private goods. Explain how market
failure >ccurs in the case of public goods. 7+8=15
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(c) Tx % it g % o= fem & o oo SfEm 5 9 99 gfewm 3§ =0 s R7
% gewm ft T e f 27 TduE g 1 SR-w e afis et R0
v fag v

What is the difference between Fisher’s theory and Cambridge cash balance
approach to quantity theory of money? What is the criticism of each? Which

one is more relevant in present context? Justify. 8+4+3=15

WU2—B / SECTION—B
5. Pafafas &= 79 1 3 @nm 150 vl | difde

Answer the following questions in about 150 words each : 10x5=50

() TFm & w=i § ‘vfa =’ o Do dlo 0% raftera gaw ¥ e @@ i)

Critically examine ‘per capita’ GDP as a crude indicator of development.

(b) T « F wwiRn @ o frera w@dd | g

Explain managed floating and sterilized interventions for exchange rate.

(c) 7 =NR 8 TN WA JaGgd ) FH T § 9whS a2 Ay ity © (\

Discuss how carbon trading is helpful in reducing environmental degradation.

: e (\\
(d) ‘T2 9ge T & 3fE 7 FF Am AW @ wiieo w@ @ﬁm%m
&7 T ° s 7
“Higher tariffs do not increase eqp%oy%cngme just redistribute the
unemployed.” Do you a\_grca ﬁm@e\sgtemcnt? Explain.

ﬂﬁ\.“:d N
(e) m% 2 \%@%ﬁtmmmﬁmﬁ@mmﬁﬁm
|

\.
a VAN N
how the equilibrium terms of trade are determined by using offer
A AARAS .
iu@gs of the trading partners.

A

(a) YTOR ¥ F FTHEEA % AN gREm aw sEiw R w1 avh D
Discuss the elasticity approach and absorption approach for adjustments in
balance of payments.

(b) m-ﬂﬂmﬁmﬁmﬁMMﬂmﬁmaﬁmmm?ﬁ
TR & weiew wvEl 6 ==l dift

By using Stolper-Samuelson theorem, discuss the possible effects of free trade
on income inequalities in developing countries.

(c) Wﬁmmmmﬁmﬂm,mﬁﬁﬁqmﬁmmm
it IRl ) e g A de @ wRa B 2

Explain how the elasticity of demand for foreign exchange is influenced by the

f:lasticity of home demand for imports and by the elasticity of home supply of
import-competing goods.
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7. (o) wEEe % afw F onils fem F e & sgen anfuwa am g sidsgaen 3§ wen
WOATAS S Al g

Explain how the structural transformation, in the economy, takes place with
surplus labour as per Lewis theory of economic development.

(b) s fem ? gEats-Fe wried ofga $ o 9 afal =0 7 sk aeied
Tige f aFam f T @ AEEEA F §7 TR F WY Aqred Fifag |

What are the advantages and disadvantages of public-private partnership
model for economic development? What are the key prerequisites for success of

20

PPP model? Explain giving examples. 10+5=15

() Fmfa 3 % R omm sfeeed an faf el 6 oAt & ar-fEr § 98
(vg-fmg) A fE=w fifvg s fre ol = aada <6 i @i sEmu
Discuss the issues (pros and cons) in the debate over import substitution and

export promotion strategy for developing countries. Which strategy would you
favour and why? Explain. ©10¢

o

8. (a) ugw Ty fawm FEN (o Wo do mo)#ﬂmﬁmw (magﬁo ARe) & T&A
sl 1 i e 8 g A R (G- qﬂﬁj)ﬁm = el 7 dmsdi
T T H g swge whiy | A !\“
Describe the major componcn K':mm:l in Human Development Index (HDI) by

the Umted l‘latt.mru'i1 Dwelo;)mcm Programme (UNDP). Write down the
metl'}odologlcal lumt.atmns of this index. Suggest appropriate method to

\ (V'

chmi:[:ate \hesc llmitauons 10+5+5=20

\C (b) mmamﬁmqﬁ%mmmmhmﬁ%mw%ﬁ U’ AR F a5 Hi
qiweqEl & quiA Hifv) Rremsiia 29 % e o' e R v e 27

Discuss the inverted ‘U’ shaped hypothesis by Kuznets in describing the
relationship between inequality and economic growth. How is this hypothesis

useful for developing countries? 10+5=15

{c) ﬁmﬁﬁmmmmﬁmmﬂmaﬁlﬁmm%ﬁmm%ﬂz%aﬁmq&t
Hied # W1 9 uR AfRE@ 6 wEEn 99 a9 R

Distinguish between warranted rate of growth and natural rate of growth,

Explain how knife-edge instability problem occurs in Harrod’'s model of
economic growth.
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